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http://images.google.com.hk/imgres?imgurl=http://www.leetsoftware.com/screenshots/sunset.jpg&imgrefurl=http://www.dailysofts.com/program/329/44463/Gorgeous_Sunsets_II.html&h=768&w=1024&sz=71&hl=zh-TW&start=11&um=1&tbnid=ekmQU4JKKw9CXM:&tbnh=113&tbnw=150&prev=/images%3Fq%3Dsunset%26um%3D1%26complete%3D1%26hl%3Dzh-TW
http://images.google.com.hk/imgres?imgurl=http://www.beachhunter.net/images/sunsets/sunset_sunsetbeach_110305.jpg&imgrefurl=http://www.beachhunter.net/sunsets.htm&h=450&w=600&sz=48&hl=zh-TW&start=22&um=1&tbnid=wt0YlwQQr95whM:&tbnh=101&tbnw=135&prev=/images%3Fq%3Dsunset%26start%3D20%26ndsp%3D20%26um%3D1%26complete%3D1%26hl%3Dzh-TW%26sa%3DN
http://images.google.com.hk/imgres?imgurl=http://www.freefoto.com/images/05/08/05_08_10---Cross-at-Sunset_web.jpg&imgrefurl=http://www.freefoto.com/preview/05-08-10%3Fffid%3D05-08-10&h=400&w=600&sz=59&hl=zh-TW&start=58&um=1&tbnid=f8fuG9H2aBwpNM:&tbnh=90&tbnw=135&prev=/images%3Fq%3Dsunset%26start%3D40%26ndsp%3D20%26um%3D1%26complete%3D1%26hl%3Dzh-TW%26sa%3DN
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= Death | understand very well, it is suffering | cannot
understand.
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